

20/20

Madison Truemner

QUIZ 2

1/26/2018

1. $xy' - y = x^2 e^x$

2' $y' - \frac{1}{x}y = xe^x$

3' $i(x) = e^{-\int \frac{1}{x} dx} = e^{-\ln x} = x^{-1}$

3' $y' x^{-1} - \frac{1}{x^2}y = e^x$

2' $\frac{d}{dx}(yx^{-1}) = \frac{d}{dx}(e^x)$

3' $yx^{-1} = e^x + c_1$

3' $y = xe^x + c_1 x$

$\rightarrow y' = xe^x + e^x + c_1$

$xe^x + e^x + c_1 x - y = x^2 e^x?$

$y' - x^{-1}y = xe^x$

$i(x) = e^{-\int x^{-1} dx} = e^{-\ln x} = e^{\ln x^{-1}} = x^{-1}$

$\int \frac{-1}{x} = -\ln x$

2. $y' = \frac{3(x+1)^2}{y}$, $y(-1) = 2 \rightarrow$ find $y(0)$

3' $\frac{dy}{dx} = \frac{3(x+1)^2}{y}$

$\int (x+1)^2 dx$ let $u = x+1$
 $du = dx$

3' $y dy = 3(x+1)^2 dx$

3' $\frac{1}{2}y^2 = 3[\frac{1}{3}(x+1)^3 + c_1]$

3' $\frac{1}{2}y^2 = (x+1)^3 + 3c_1$

3' $\frac{1}{2}(2)^2 = (0) + 3c_1$

2' $\frac{1}{2}(4) = 3c_1 = 2 \rightarrow c_1 = \frac{2}{3}$

$\frac{1}{2}y(0)^2 = (1)^3 + 2$

$\frac{1}{2}(y(0))^2 = 3$

$y(0)^2 = 6$

$\frac{1}{2}y^2 = (x+1)^3 + 2$

$y^2 = 2(x+1)^3 + 4$

$y = \pm \sqrt{2(x+1)^3 + 4}$

2' -

$y(0) = \sqrt{6}$